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gEELY m3 76.1 80 |1522.92%5cm
TEEEIE m2 1,522.9 1520
g m2 1,522.9 1520
x[E m2 1,522.9 1520
YT EEE(t=25mm) m2 0.0 0
T YT EEE(t=45mm) m2 0.0 0
EBHS—HE m2 97.0 97
RE#RT
=4 15cm m 436.0 440
BE#E 15cm m 0.0 0
E#R 20cm m 218.0 220
E& 45cm(F) m 15.0 15
SHEMREIE T
S IREEE t=5cm m2 1,522.9 1520
FUTTv D& (As) m3 76.1 76
53 % (As) t 178.9 179
SR m 36.0 36
TeE
RBEFER A 27.0 27
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m) |8 8 |FHIEE ® B |1E 8 |FHEE @ B |G &8 THIEE ®E B |1E 8 | FHREE | @ & wE

sect.0 6.86 6.86 6.86 6.86 L#76.9m
sect.54.5 54.5 6.90 6.88 375.0 6.90 6.88 375.0 6.90 6.88 375.0 6.90 6.88 375.0(PIBr10.6m*2
sect.00.4 459 6.90 6.90 316.7 6.90 6.90 316.7 6.90 6.90 316.7 6.90 6.90 316.7
sect.135.5 35.1 6.80 6.85 2404 6.80 6.85 2404 6.80 6.85 2404 6.80 6.85 2404
sect.159.8 24.3 7.21 7.01 170.3 7.21 7.01 170.3 7.21 7.01 170.3 7.21 7.01 170.3
sect.190.3 30.5 7.20 7.21 219.9 7.20 7.21 219.9 7.20 7.21 219.9 7.20 7.21 219.9
sect.201.0 10.7 7.20 7.20 77.0 7.20 7.20 77.0 7.20 7.20 71.0 7.20 7.20 71.0
sect.218.0 17.0 7.34 1.27 123.6 7.34 1.27 123.6 7.34 1.27 123.6 7.34 127 123.6| I E77.3m

=0 218.0 1522.9 15229 15229 15229 36.0
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